RICE Table Problems Q C,c:‘;\f

\
3) For the reaction:
Ha(g) + lig) § 2 Hi(g)
) the equilibrium constant, Keq, is 55
If the initial concentration of the hydrogen and iodine before reacting were both 0.1 mol/L and
no Hl was present, what is the hydrogen iodide concentration in mol/L at equilibrium?
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Lf For the reaction:

e

and x and x. The equilibrium constant for the reaction is 100. What is the concentration for C in
mol/L at equilibrium? L ,,\?
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the equilibrium concentration of a A, B, C and D in mol/L are respectively 0.11 - x, 0.11 - x,

sl
L.




